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QUESTION 1

What is a function of the NDMP server in an NDMP-based backup approach? 

A. Reads the data from the storage device and sends the data to the backup device 

B. Reads the data from the backup server and sends the data to the backup device 

C. Instructs the NAS head to start the backup operation 

D. Instructs the backup agent on the client to send the data to the backup device 

Correct Answer: A 

 

QUESTION 2

Which feature of an object-based storage system abstracts and provides a common view of storage independent of
location to applications? 

A. Global namespace 

B. Flexible data access 

C. Multi-tenancy 

D. Scale-out architecture 

Correct Answer: A 

 

QUESTION 3

Which type of Fibre Channel (FC) ports do the labels "X" and "Y" represent in the exhibit? 

A. X is an E_Port and Y is an N_Port 
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B. X is an F_Port and Y is an E_Port 

C. X is an F_Port and Y is an F_Port 

D. X is an N_Port and Y is an N_Port 

Correct Answer: D 

 

QUESTION 4

A company has an FC SAN environment. The company\\'s network administrator wants to ensure that a particular
switch port cannot function as an EPort and cannot be used to create an interswitch link. Which security mechanism
should be used? 

A. Persistent port disable 

B. Virtual SAN 

C. Port type locking 

D. Port binding 

Correct Answer: A 

 

QUESTION 5

What is a benefit of block-level storage virtualization? 

A. Enables the online expansion of virtual volumes 

B. Enhances performance by limiting the RSCN traffic 

C. Improves security through logical segmentation of block storage devices 

D. Increases scalability through separation of FC addresses across VSANs 

Correct Answer: A 
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